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4. Determine the Laplace transform of (15%)

(0 for t<2
¥$1R %17 g(t)“{t2+1 for tZZ}
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5. Solve the following integral equation by Laplace transform. (15%)

t
— 2 _ -7
1.~ Solve the following differential equation. (15%) f(&) =2t% + fo ft—1e"dr
, 1, 1 2
VI TR T

6. Solve the initial value problem by Laplace transform. (20%)

2. Find the solution by the method of undetermined coefficients. (15%) Y 2y +2y =6(t=3), y(0)=y'(0)=0

Note that §(t — 3) is Dirac delta function.
y" +y" + 3y = 5sin(2x)

3. Find the solution by a power series method. (20%)

x?y" +5xy" + (x + 4)y = 0



